[(ZZEHM N IBME-EEERRFE BXERR)

KTROBUEIL. h<ETEHZRAL LTOBEELLTEITEDTHS,
Y=l CCADNEELEA— —&EHE
AfE | JbEFE |fEIRES| PET | stim | BE [ U [F—L| m&E | A | L& MR | JkfE | PP FREE
FIERR [ZE] 189 28 53 22 138 9 0 1 7 69 0 2 16 4 94
F2REBR [ZE] 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FEIFEHRR [ZE] 10 0 0 0 0 0 0 0 0 24 0 0 0 0 0
E:ii
z'_’g R [R#7] 23 8 46 2 25 7 0 1 7 24 0 1 9 4 36
% ZE SR A 3% fife [&] 23 8 43 2 0 7 0 1 7 33 0 1 9 4 36
A4S [&] 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0
R [&] 4 3 3 0 0 0 0 0 0 0 0 0 0 0 0
i [&] 8 10 0 4 0 0 0 0 0 0 0 0 0 0 0
AEE [&] 4 2 2 0 0 0 0 0 0 0 0 0 0 0 0
" KO (4 Ffr] 3 0 0 0 0 6 5 0 0 0 3 0 0 0 5
E 7—K (& Fr] 3 0 0 0 0 6 5 0 0 0 3 0 0 0 5
B[RRI [&] 3 0 0 0 0 6 5 0 0 0 3 0 0 0 5
= PR 78— [4Ffr] 241 24 84 63 0 0 0 0 124 73 3 4 31 0 114
WMEEERZT DI x| | X/ KX XA KX | K| KX KX KX | KX| KX|HX| K| =R




(ZEE&EM 2] E—

BOEESXR BHESR)

XTROBIEL, H<ETEHBZRALLTDSEBELTTITLNTHS,

wEmiE CCANEEREI— —EH R
AfE | JbfE |7EIR=5| PET | kim | B3 | U\ (=)L mEE | R | L& MR | JkfE | PP | FEEE
BEIEH [&] 2 2 3 3 3
BEEO (4 Ffr] 62 9 59 25 14
BEERE (& Fr] 10 7 21 9 7
BHKA 78— [#Pr] 5 4 19 15 15
EEApc3ES [#Pr] 0 0 0 1 1
BREEEE [&] 0 0 0 0 0
[(SZE&H - SIME—ERRERKE FERABHES)
XTROBUEIL, H<ETEHEZRAC LETHDSEELLTRTENDTH S,
BEmiE CCANEEREVI— —EHmEbE
AfE | JbfFE |fEIREs| PET | Stim | B [ U |FR—L| mE | AfE | L MR | JtfE [ PP FHEE
JEE FEREA [XT] 1,321 257 286 126 806 345 81 22 313 591 105 4 160 24 538
BRI 5E [#Fr] | 1,321 257 286 126 806 122 45 8 110 591 105 4 160 24 538
AEREE; [&] 1 0 1 0 1 1 0 0 0 0 0 0 0 1 0
BREEEE [&] 1 0 1 0 1 1 0 0 0 0 0 0 0 1 0




